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o Please check that this question paper contains 15 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 25 questions.

¢ Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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AT (7397 :

(i) 137 J1 J94] & IR U Ieq & U qIa T a &l |
(i) 3 37Hl qIct ol & IT 50 - 75 V5G] & & |

(ili) 4-5 37%] Frc Je7) & IR AT 150 51 3 & /|
(iv) 6 37H] FIct Jo] & IT TTHT 200 7151 3 & /

()  TF IJF F Gt 9T GIg-gqrg & &7 i |

General Instructions :

(i) Answers to questions carrying 1 mark may be from one word to one
sentence.

(it)  Answers to questions carrying 3 marks may be from 50 - 75 words.

(iii)) Answers to questions carrying 4 — 5 marks may be about 150 words.

(iv)  Answers to questions carrying 6 marks may be about 200 words.

(v)  Attempt all parts of a question together.

1. ‘fouse grEald gfeag fafiee’ 3 afeddt ta wal & uiegs o fafywar ur
$1 2 | 3HhH IR § =S 9@ § Hifeh I8 3fua gy 9 3fd wH W sl
ug Gfestat @ faafid i B |

39 I o THI H RV od Y 3g@ hHiC foh Nawse graare afdas Hi
SHrRic Yoil sl STEvIshard H BT AT IAH | 1

‘Reliable Transport Services Ltd.” specialises in transporting fruits and
vegetables. It has a good reputation in the market as it delivers the fruits

and vegetables at the right time and at the right place.

State with reason whether the working capital requirements of ‘Reliable

Transport Services’ will be high or low.
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2. ol e g fafids’ uw uftg dHived yied wve @ W el we e % o
e dieed JEmeEl 1 U B B | FEHT 39S el b forg Wert W emenii
ATl ST ITANT Ll B R W H H. 1 Gid JHIEH U8 7 | I§ 7 hadl AU
IYARBISTT ! TS HEt & MU 39 U5 h1 ToEd gean § oft fovamd w@dt 2 |

‘ot e wed fafee’ g AR 9 arefl fauvH weew staumum <Rt
gAY | 1

‘Glow and Shine Ltd.” is a famous beauty brand offering organic beauty
products for men and women. The company uses plant-based materials
for its products and is the No. 1 beauty brand in the country. It not only

satisfies its customers but also believes in overall protection of the planet.

Identify the marketing management philosophy being followed by
‘Glow and Shine Ltd.’

3. US4 ‘HAMNYE Hied ¥ T 50 AME hl TH HR GG | FFH] J G hHl 9854
T 3RS UGN TEgd fhU S — YoM @ aui o faw guwa i@, 20,000
feRetier deh TwTE-getts (Tfdfi) 6t gud dard 3R 35 foft SR H W T A
S 9 B UgA™ ol H HaTY, I1fe | Afer %9 e a1g wohe w1 e T R
HR THR Sod! T8l Tehgd! MR 30 397 § $© TUel & | HFE! 3 fomm avma
% HR hI ABR-gAS (AERT) 6 Afer T oft e saes fsurgr @ w@qe &
o | ‘HfiNes Aied’ W WA WiifshAT FE ¢ W A | I I UsH FHARE H
RreprId &5t L, AR 98 38k Ula & G881 g7 | 98 95d 31fush e
o7 3R 31 HEH % w1g 384 I8 Ffa forn 6 9 soeh foeg afia = |

FT Gohal TsT HHITE o U & fovg Tfid v Fohal & 2 3794 I & g9eA
T R T | 1
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Pankaj purchased a car from ‘Abhishek Motors’ for ¥ 50 lakhs. The
company offered many attractive gifts to Pankaj like — free insurance for
first two years, free pick-up and drop facilities for free servicing upto
20,000 km, etc. But after a few days Pankaj noticed that the pick-up of
the car was not good and there was some problems in the engine. The
company serviced the car free of cost but even then Pankaj was not
satisfied with its performance. ‘Abhishek Motors’ is not giving him the
due response. So he filed a complaint in the State Commission but was
not satisfied with its decision also. He was very much disturbed and after
two months decided to appeal against it.

Can Pankaj appeal against the decision of the State Commission ? Give
reason in support of your answer.

4. I FI hal A1 7 T T&-g & g Yehld € J&Id: g aid @ ? 1

Why is it said that principles of management are mainly behavioural in
nature ?

5. ‘T Gisfha@’ dis (W) oI aTell A1Sfhal S T It R @ B 3R
ISR H 3G THIURR § | HadE 9gd 3101 9 @ &, AR Hradl g a9
fasha o 10% 1 ghg o 10 ¥ hl - ITed @ 3 | 319 sl o=
fhIE & IcHTGd BIht ShFIHT o Yea-g-Heeeh 4 3Tl oy fashdl § 15% g
ITeRTet A& Tl | 36 9N SR O gfeenfrn 9 oft yaw feren faeh
FHIUHT 7Y AL DI YT Hid H Emed W |

Y=g o HIAT H F Teh hE <hl 3T HHT sl TgATHT N8 HRUT Hrg-T 394
A& ! Ied hid T A & | 1

‘Bawa Cycles’ was in the business of manufacturing racing-cycles and
had a monopoly in the market. The business was doing very well and the
company was consistently meeting its objective of 10% increase in sales
every year. Encouraged by the good track record, the Managing Director
of the company kept an ambitious target of 15% increase in sales for the
next year. The same year two competitors also entered the market and
because of this the company was not able to meet its target.

Identify the limitation of one of the functions of management because of
which the company was not able to achieve its target.

66/2/2 4
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6. Yaad AT fRE YR Weh HFAH! hi ST TTEAT o TIH ohl YW it & ?
3@ IR | 1

How do ‘Floatation costs’ affect the choice of capital structure of a
company ? State.

7.  Schiewr 9 w7 A B 2 1

What is meant by ‘Liberalisation’ ?

8. TIINH & T IR & ®9 § w1 319 warsy | 1

Give the meaning of ‘Rule’ as a type of plan.

9.  Uh TS & HAcH &id ol o1 31 § ? 3Heh kgl ol <INl ol ool It | 3

What is meant by functional structure of an organisation ? State its any
two disadvantages.

10. Yt SR wd ggT IR % = Feffad snurl w st Hife 3
(27) fqurht
(7)) ww=

Distinguish between Capital Market and Money Market on the basis of
the following :

(a)  Participants

(b) Instruments

66/2/2 5 P.T.O.
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11. Fdum. e 950 9l 9 o8 @ fope o1 @ 2 | 30eh U MG
150 HUaRl & S8 @ fehat SRIS-T=iawer ¥ @9 98 § | $Heh HRU
HH-3TEd QL 984 Sl g | 31d: w3 el 1 fovawor & & o © 7T
HHE-GHTEA-Jeeeh, & @l 3w foam | Tl =1 war =ern foh wrot o g
%1 YaTg 3tad & B, 3R wH=TEl % gt a1 ke w g & fore @t
IS A Ul AE 8 | FFT Igd HH A AT HIER{dh HRAHH AN
HAT B, HUEH! had TEAT H T B, T 1 THT Hd & IR I I14 8 |
(31) 3IuIh afvia TN ST B TEATHC |
(F) 3I9gw GRNU 1 ol fRE Aofi § afika R S Eekdl B ? Sooi@

HifT |
(@) 3@ Ioft Y Uk S TN 1T Rl THSATEY | 3

‘KPM Ltd." is manufacturing breads and biscuits for many years. It has
approximately 150 employees and most of them are not happy with the
working environment. Because of this the labour turnover rate is very
high. Therefore the company appoints a new Human Resource Manager,
Naveen, to analyse the situation. Naveen finds that there is no free flow
of communication, and there is no suggestion box for the employees to
voice their suggestions or grievances. The company rarely organises a
social or cultural gathering, the employees just come, finish their work
and leave the organisation.

(a) Identify the communication barrier discussed above.

(b)  State the category of this communication barrier.

(c) Explain any other communication barrier of the same category.

12. foawor #reem & 99 R SR Rt e TR TR uvifad d @ 2
HHATRT | 3

How do the ‘market related factors’ affect the choice of channels of

distribution ? Explain.
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13. E TR ={iwER e’ & 91 T Haee & ®9 § SR H @ o1, |
ST YfGH T BN I B W oAt | HOH T dEF ufdafer 200 1A
G FAT T IATEA BT AT | IGH1 SR Ig AT AT o foh Iedted
w1 TAfdeT 9 9 Iaar ® 3 390 fordt Tehr <Al ShIg o919 9 37U | 39 UT
w0 & fou g7 AT ey ear of 3R 3§ 919 W S <1 o foh 3T e
foran SITU | =8 s fovame w@ar o foh fsares &t <@d §U R @ <8 g
faw < wehdt 2 |
3TRE GRI YIS 7§ ~cdl il hl T8a HIT TAT 8R! JUM hIT | 3

Aarav was working as a supervisor with ‘Neer Purifier Ltd.” which was

producing water purifiers. The target of the company was to produce 200
water purifiers every day. His job was to make sure that work goes on
smoothly and there was no interruption in production. To achieve this, he
always gives orders and insists that they are obeyed. He believes that
reward or punishment both can be given depending upon the

performance.

Identify and describe the leadership style being adopted by Aarav.

14. Y % HEE W THR SO a1 foheal R fogal o1 Ieei@ i | 4

State any four points which highlight the importance of management.

15.  IUMIET G0 AT, 1986 & 3T=avid fou wu 3usiht & fo= arferenrdi
HHART 4
() == 1 ATDR

(8) afagfd = e

Explain the following rights of a consumer as provided under Consumer
Protection Act, 1986 :

(a)  Right to choose
(b)  Right to seek redressal
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Downloaded From: http://www.cbseportal.com



Downloaded From: http://www.cbseportal.com

16. Suw fafies’ v faene wa Iur-unan areft ot § S 9Rdi SR % fae
ATAT%ITd FHI 1 IcdTeA HL @l & | I8 319 3 9@l hl gL ou i Fid
T a8 3N T8 I dehieh Tl AefiAl A e o w1 fomam = @ R |
s Y After AT B9 % T Seehiieteh fod hl STEOwIehdT & | HEAT A
fotar foren for a8 wwar o791l IR ek fo wehia oft | gmar o7 & I
T 9gd ek fFiH Ara (Fereed i) ffed @ | fefe mm (wdieeE
HIEC) & @l ol T B b (oI HEHT 4 5T IR 6 Teh@l i ST H o
&1 fofg form |

(37) I I * AU Freht g1 SR % o Toig 1 TE 9 a8,
3G T Sd1d g 3 FHEATST |

(@) 39 o % meaw ¥ H fhat srafy % faw foe o wedt R 2
(@) 39 Yor@ i 3N ford 3w o Tofe Sui & e S Eehat B 2 4

“Zaira Ltd.” is a large and creditworthy company manufacturing
air-conditioned buses for the Indian market. It now wants to export these
buses to other countries and decides to invest in new hi-tech machines.
Since the investment is large, it requires long-term finance. It decides to
raise funds by issuing equity shares. The issue of equity shares involves
huge floatation cost. To meet the expenses of floatation cost, the company

decides to tap the money market.

(a) Name and explain the money market instrument the company can

use for the above purpose.

(b)  What is the duration for which the company can get funds through

this instrument ?

(c) State any other purpose for which this instrument can be used.
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17.  ‘omurien foene™ deashy, UIgTshH-GgHl 9 shier-arardt fsmedt o fismor
e faenfer o galgion fasm A faveam wgdr & 991 dW WieT i S e aar
7 | T T feam W fqemers Sl U WS SRishH TEqd T o7 | HrishH
graeft faftm wedt <1 Iom s % f9U I8 <@ gE a=1 Sl Tk HAd
T8 | 3= 98 T forn fh g9mee % faw 9 gH-afhe O w1 T
HAT | ITH Thal TF 0 1 WaT off 3T v TG Th-gal T T8I
® 9 | U favam® Td U9 hl IoAT & hRUl hibshd SAarEdd €9 I
fefa e wrifea 8w | eRfamg 3, S uH S=a B ¥ U o1, Ig AN
fora fop oo ® v & IS ©g st | 39 e 3 YeRg o fafie
Tograi § 9 u 1 99 TR B | 98 SRshH hl I%hadl ¥ 3adT 3Tty Ui
g7 Toh 38 o1 oSt 1 3t frgra o1 oo eEm § oM o foie et |
3k fuarSit 3 SIqrn foh 98 9eel 9 &) 39 fug< 1 S e ® |
(1) HRAHH S Thaar & fore J=T fohu U gerg & fagea &I gg=nT |

(§) oy i 37 3 fanwaneti <1 sg@ FIfe 57 w SwdE sgese # g
AT T 2 |

(@) ‘omunfyen fomme g @AW Wl wRIfvd fhu U Rl @ gedi
TEEH HINY | 4

‘Adharshila Vidyalaya’ believes in holistic development of students and
encourages team building through a mix of curricular, co-curricular and
sports activities. On its Founders’ Day a stage performance had to be put
up. A committee of ten prefects was constituted to plan different aspects
of the function. They all decided to use recycled paper for decoration. As
there was a spirit of unity and harmony and all members supported each
other with mutual trust and belongingness, the programme was
systematically planned and executed. Arvind, one of the prefects, realised
that unknowingly the group had applied one of the principles of
management while planning and executing the programme. He was so
inspired by the success of the function, that he asked his father to apply
the same principle in his business. His father replied that he was already
using this principle.

(a)  Identify the principle of management applied for the success of the
programme.

(b)  State any two features of management highlighted in the above
paragraph.

(c) Identify any two values which ‘Adharshila Vidyalaya’
communicated to the society.
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18. ‘wifeqes foifies’ o AR St g8 HIT I QU I & (¢ HFA gRI ST
T8 PR HIHT T H HA b AW TE & | AT HAAN RAeh o
fafieh TTigeH Sl HIT L @ 7 | HHAT! o TR-SR AT oh HROT THdeqh T
g 3AH TR R |
gara difve 5 Ty fra yeR U=t & HIvd 9 T 6l gl 38
WA Y ¥ R G & A T Tohal 8 |

39 ofi9 ol w1 off 3g@ hifSTT Sl HHETNE] i Udets o MUl grRi = 'R | 4

The workers of ‘Swastik Ltd.” are unable to work on new computerised
machines imported by the company to fulfil the increased demand.

Therefore the workers are seeking extra guidance from the supervisor
and the supervisor is overburdened with the frequent calls of workers.

Suggest how the supervisor, by increasing the skills and knowledge of
workers, can make them handle their work independently.

Also state any three benefits that the workers will derive by the decision
of the supervisor.

19. 7 1 20 wHETRE % "y AR g SR % foe Trd-dem s’ am a
a&d gl s <l T HEf ATH hl | 09 YRS Nt § w4 SEd
et % TR | e Icue 3R 9 SN SEeRt fouve Wt ik TR @ B @
oT, JHAT 3H& 3G I AT §¢ TS | IUE Hl §GH b AU HEGA I
fafh safmal 1 well et 98 | g, S ued dR e W o @ o, 59
el MBI T A BT Y1 | 30 g favarg o1 fob W+ ol =i
IHTEYU & § T B b fore oTefiaee QUi &9 9 dem, THef Ud |@eH-avd 8
3R g Fyuii vl IWTEqUl @1 & AN i 1 ST 331 Thd & | $Hh
e g Tt iR FFal 9 hadl 31T AT dgH H hHad @ 31iug
fafir fommarstigsh a1 399 1o IcuTg sj@en § foear off o foa |

(1) 3IM JAAYRM hl YgaTHT, fTHHT T b 8 YT HFHT bl ATeh

FaTgdl deh o I § T & T
(9) 39 STAYRN % HEwd o (oheal dI (653t ! Hf FHLATIY | 4
66/2/2 10
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Harsh started a company ‘Tiny-Toys Ltd.” to manufacture economical toys
for the Indian rural market, with 20 employees. The company did very
well in its initial years. As the products were good and marketed well, the
demand of its products went up. To increase the production the company
decided to recruit additional employees. Harsh who was earlier taking all
decisions for the company had to selectively disperse the authority. He
believed that subordinates are competent, capable and resourceful and
can assume responsibility for effective implementation of their decisions.
This paid off and the company was not only able to increase its
production but also expanded its product range with different features.

(a)  Identify the concept used by Harsh through which he was able to
steer his company to greater heights.

(b)  Also explain any three points of the importance of this concept.

20. ‘IHUETN TS Rl 31 §A13U | 3Heh foheal o ol U feheal @l Qi <Rl
I hHITT | 5

Give the meaning of ‘Informal Organisation’. State its any two
advantages and any two disadvantages.

21. U FHEH! HIEEA B 1S HH o fAC Hier 39 1 fmior & @ off, s =95d
Ad M H I | I8 9 T R U fed # 500 WeR WA 99 1 AL
FHIE Ied T W W R o | faveivor ) Fg uar =at b wHEn Terdt w8
¥ | e WA S SIAASHAT o BV TAT HHATIT bl HHT o BRI HFIA 37T
Fuffa @t &1 a7 W T @ I qAT dehicus TawtsT i ITEvahal
off | 91 8 AT ! LU HH o (AT HFIHT 7 SAH AT Tob AT 66 IATANH
AT 6 A off, ad @ 6 fftw faumm & rewet & w9 &
HA qAT 10 TAh AT o AfA AefAE & ¥4 W HE HA | AR
T Ta il fafimedrati @i Wt gEiag o foren o | 9g off fofa forem mn
5 TmeT & e’ et uel W afgeneti, fuse qem umfior &= o & qen
oy <rwerdn arer o ot It A S fore ge @ S |y <h Amraret
1 IR T I Tehid o A1 M L o g @ o fohg 71T | 5
(27) ST afvld yavg & ST Pl TgaT |
(¥) UEAH U YAH B hl AKAT o 3 3 =N Hl i@ hitoe et

i Iwdh T =ee | foram w7 |
(@) H TRl a1 oAt I ST S HFIHT FHS hl NG ST Ar8dt
g |
66/2/2 11 P.T.O.
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A company was manufacturing solar panels for charging of mobiles which
were in great demand. It was found that the target of producing 500 solar
panels a day was not being met by the employees. On analysis it was
found that the workers were not at fault. Due to non-availability of raw
materials and shortage of workers, the company was not able to achieve
the set targets and alternative arrangements were needed. To meet the
increased demand the company assessed that approximately 66
additional workers were required out of which 6 would work as heads of
different departments and 10 would work as subordinates under each
head. The required qualifications and job specifications were also
enlisted. It was also decided that necessary relaxation should be given to
encourage women, persons from backward and rural areas and persons
with special abilities to assume responsible positions in the organisation.
All efforts were made to match the ability of the applicants with the
nature of work.

(a)  Identify the functions of management discussed above.

(b)  State the two steps in the process of each function dicussed in the
above para.

(c) List any two values which the company wants to communicate to
the society.

22. TUs <@ vl @ S Toweas ffies’ 4 w1 = & 2 | 98 & & gfd .
Tadur & fou ufag B | 99 o9 afte Yeruw aTtad gel i sHe @t
il 4 I8 9en o ke Al 379 YerEid g I | S« 39 @il 9S <kl Ueh
el =i FAR T grn R e T @t |t B oTeeR gen | 3Heh SR
HISAT 1 IcATE W1 B T AR IFh Fsared e 3 o/ omn o sEd
3TY-3TTY 1 TFE IFTAMCAT HEAT & L AT 3 3794 AL 1 T T8} L
q1 &t off |
FHHAT AT Toh =t T oft S S STefiTEe Bl T Sheet IAewm et off, 3rfug
I8 ATIeRd Ua IR ot et off | 3T e & a8 I IR ey fe
3R 39 Hegy fohaT foh 39 TIoaTeT H GUR TohaT ST Hehal & | 36 1T ohl
e o fAufa wrereft fowen & wnfier e arey o e o 38 U = -Eiy
T Te-Y FrHfd T TGET ST QAT | 376 1T HIETad H 90 T 3T off 3R
3G fsare & off guwr g Iy g e |
(1) i gro fnfea eee & SRl i gg=m Hif |

(¥) ve9 % IuYH B o IG a1 AW FASC ER FERAT | AT
TSN o SEER H R HL Thl |

(@) 3T (F) H I8 TN ad i fohegl o ToRIyaTsti o1 Seor@ il | 5

66/2/2 12
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Kavya had been working with ‘Reliable Ltd.” for the last ten years. She
was famous for her dedication towards the work. When the manager
senior to her retired, all her colleagues thought that now Kavya would be
promoted. But to everyone’s surprise the vacant post was filled by an
outsider ‘Miss Garima’. Because of this, Kavya felt demoralised and her
performance started declining. She would absent herself often and could
not meet her targets.

Miss Garima was a good leader who would not only instruct her
subordinates but also guide and inspire them. She noticed Kavya’s
behaviour and felt that her performance could be improved. She started
involving Kavya in decision-making issues related to the organisation
and made her a member of a high-level joint management committee.
Kavya was now punctual to office and her performance started

improving.
(a)  Identify the function of management being performed by Garima.

(b) Name the element of the above function of management which

helped Garima to improve Kavya’s behaviour.

(c) State any three features of the element identified in (b) above.

23. Ty & Hfcfaa fagmal = gHesy 6
(31) TR T@ IS
(d) UcHP Th hl ITh! JTehITEh &A1 & foIU T

Explain the following principles of management :
(a)  Authority and Responsibility

(b)  Development of Each and Every Person to His or Her Greatest
Efficiency

66/2/2 13 P.T.O.
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24.  FrEEl e XIIH ariorsy i weh forneff off | swes fuarsht weh fopam o S g
1 fofi foped Id & @en 78 Ieaed < farfvm el o qof w9 @ Fgw 9 1 @
TEHR G T8 1 Wl T T HAR(Eh IIESHT o fIg Wt g4 ¢ | weh qism
% T H 36 I UE 1ol 715 ol I qedl T fauuE i shl grreadr ©@
I H A1 o T | 3k fuarsht 4 38 gema fen & amesi & fa=mi @
Al 1 91 AT o T 98§20 1 3T B | I8 qrn fop Aforsh-eh g h
Fga aAfee A off | 3/ var on o6 A A feufa § 8 qd-Fuifa fafireard T2
Bidi, e HRU Icqe T ThEUdr T hET Hisd Bl & | A9 3IcAE ohl
wiEfEl & s e % T 3o 38 TEm-Aieag, w1 AW faa o Sl
e o YR T AYer, Falfeeh qd1 G| ameh o fafte S & sfe
fean | 387 9% wegy for T 3 9m 39 3ce fawdietw § wegar i |
394 3TIe8E % Hed # fauuM % W S i gy | 6

Vasvi was a student of Commerce in class XII. Her father was a farmer,

who grew different varieties of wheat and was well versed about various
aspects of wheat cultivation. He was also selected by the government for
a pilot-project on wheat cultivation. As a project she decided to study the
feasibility of marketing good quality wheat at reasonable price. Her
father suggested to her to use internet to gather customers’ views and
opinions. She found that there was a huge demand for organic-packed
wheat. She knew that there were no pre-determined specifications in case
of wheat, because of which it would be difficult to achieve uniformity in
the output. To differentiate the product from its competitors, she gave it
the name of ‘Mahan-organic-wheat’ and classified it into three different
varieties namely — Popular, Classic and Supreme, based on the quality.

She felt that these names would help her in product differentiation.

Explain the three functions of marketing, with reference to the above

paragraph.
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25. ‘fufeeran fafiee’ we wraft 2 S fioss & Ul &1 IcqeT = & 2 | fusd
HIh TN W Tg AMAR T o Afid B W@ 7 | W a8 off 98 wafeq oy
Il & ° a%a W 8 | HEED % g g Ushs R wfosy # fas@ &+
3T AT ITAY B | Ig Th Well-HiTd JaT-ad T & a1 urad, USHR
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‘Silkiya Ltd.” is a company manufacturing silk cloth. It has been
consistently earning good profits for many years. This year too, it has
been able to generate enough profits. There is availability of enough
cash in the company and good prospects for growth in future. It is a
well-managed organisation and believes in quality, equal employment
opportunities and good remuneration practices. It has many shareholders
who prefer to receive a regular income from their investments.

It has taken a loan of ¥ 60 lakhs from SBI Bank and is bound by certain
restrictions on the payment of dividend according to the terms of the loan
agreement.

The above discussion about the company leads to various factors which
decide how much profit should be retained and how much has to be

distributed by the company.

Quoting the lines from the above discussion, identify and explain any

four such factors.
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